
r) 

8 I I I I I II 234567 1m OESCR IPT ION ..., 

[! [! 42 

41 VEXTA STEEPER IRK596M-N25 

40 5 TON ANT, -BA()(LASJoi JACK 

39 2 )( 2 sa. UN t STRUT WASHER ,. 
D J8 WC-241875 PRESSURE CONTROL STANO "0" I 1 ID 

37 WC-241875 PRESSURE OONTROL ST,AA() 'C' 

I' f, ,_" ~ 38 "'C-24 1875 PRESSURE OONTROL ST,AA() "8' 

35 WC-2"'875 PRESSURE CONTROL ST,AA() "A" 

34 loEI-241879 DIAGONAl 8RACE-J 

JJ t.IB-2,,'878 DIAGONAL BRACE-2 

32 MB-241877 DIAGONAL BRACE 

l ~~~: .. ' OIJL'-/ 

-
31

..., ,/.­ " .-:/~/ .; ::- .:~~ '/47 .J 

c 

JO t.IB-2418715 SENSOR IoOUNTING PLATE 

29 UB-241872 Cl.MF 

28 t.IB-241871 SWITOi t.rJUNT 

27 t.IB-2418e1S PRESSURE (X)NTROL SPACER 

215 t.IB-2418~7 OUENOiER SPACER 

25 t.IB-2418~6 ROO CL""" 

24 t.IB-2418~~ TORQUE RESTRAINT 

2.3 1r.A8-2418~8 OU[NOi[R ......CNET t.OJNT I 1 Ie 
22 ...8-2418155 ......CNET ~T I 1 

21 t.IB-241887 CYLINDER CAP IoO)IFICATION 

R~"~~ 
~ I ~/~

c.v tI 
40 

----" 

14 n~ .. 8 
I II , ,, 

I i rl rl 

20 t t.IB-2418~41 QUENCH COVER 

1; I t.IB-2418521 QUENCH CYUhOER IoOUNT1NG 

18It.IB-2418~.3I°UENOi PRESS CTRL CYLI~ER I.D..INTI4 

m 
76162 

B 

-

A 

~ ~ I-'"'~ I"""~ 9219,400~MD~241BBB '''' 
IOO.lllNXS.ri,. IG!AOI.P: Pf"DAEOWtICAI.. [l(PNllNEJrlT 

8 I 7 I 6 1 5 1 4 I 3 I 2 1 

43 I , "-14 COLf'LER I 1 

44 

4S 

46 

47 

48 

49 

50 

51 

52 

53 

54 

56 

57 

S6 

!ig 

60 

61 

62 

6.3 

154 

., 

S'_ )( 10' STROKE: HYC. C'I'L, 1 

1oIA.()( , /2 HPT VAL V( CV-5 1 

:s GALLON PRESSURE VESSEL 1 

124 BELLOFRAM CYL. 5.24" STROKE , 

TEtr.POSQNICS TRANSDUCER 4-20...... I 

2 , /2-' )( .. STD. w/SAE 18 PORTS 1 

CASTERS.. 

SCREW 3/4-16 .: , sri. 12 

SCREW 5/8-1\ .: 3/8 1+1. .. 

SCREw 5/8-" )( , J+I. .. 

SCREW 5/8-11 xl( 1 1/2 SH. .. 

S~EW ~1/8-1' .: 1 SH. 15 

SCREW 5/16-18 .: 3/4 SH. 6 

SCREW .3/8-16 x 1 HH. .3 

SCREW .3/8-115 x 7/8 HH. 2 

S~EW .3/6-16 x .3/4 SH. 20 

SCREW .3/8-16 x 1/2 t+f. 4 

SCREW .3/8-115 x 2 1/2 HH. 28 

SCREW 1/4-20 x 1 SH, 

•• SCREW 1/4-20 x 7/8 SH, 

• 7 SCREW 1/4 -20 x 3/4 SH . 

•• SCREW 1/4-20 x ~/6 BH . 

I' 


